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Ito City has the Amagi Mountains in the west and Sagami Bay in the east. About 45% of the whole city is designated as a . o
national park. Surrounded by a beautiful ocean and breathtaking mountains, Ito has been developing as a City of International % g MEALZ0 DTV Z10AMBCEELTIWES 2R LTVET,
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250 15 Ito is located to the east of Izu. Izu is named after the old Japanese word “izuru,” which means “spring” in Japanese (lzu = hot spring
200 country).
150 10 FEKE (mm) In 1889, sixteen neighboring villages were united to make four villages (lto, Komuro, Usami and Tajima). In 1906, Ito Village was
renamed Ito Town.
100 5 — BESE (C) In 1938 with the opening of the National Railway lto line, the town became a modern hot spring resort area and subsequently called
50 0 an “annex to Tokyo.” Then on August 10th, 1947, the towns of Ito and Komuro were combined, giving birth to Ito City.
2ESE(T) Finally, in 1955, the neighboring villages of Usami and Tajima were integrated to create the present city of lto.
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